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COMMON CORE CURRICULUM
MRS.
FRANKLIN’S
FALL BENCHMARK STUDY GUIDE
Solve each problem and show your work. Complete one
title every night to help refresh your mind on the concepts from the Common Core Curriculum.

My child has been working on this study guide nightly to help prepare him/her for the benchmark exam.  They have worked the problems and included their work for each
problem neatly.

Student Name 
Parent Signature
[image: image1.png]\—

1 If the points of a triangle are (3,0) (1,3)
and (5, 7), what are the new coordmates
of the triangle if it is reflected across the
y-axis?

A (=3,0)(~1,-3) (=5,~T)
B (—3,0)(~1,3)(=5,7)
C (3,-0)(1,-3) (5,-T)

(DOK 2)
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reflection across the y-axis
reflection across the z-axis
reflection across the line y = 0

reflection across the linez = 1
(DOK 2)

cawP

3 How is this square reflected?

y A s T

A B

D C 73

{-5-443-2-10 AR

across the z-axis

across the y-axis

acrossthey =

It wasn’t reflected, it was translated.
(DOK 3)

Saw>

\rans formations

4 The coordinates of triangle A’ are
(0,0) (0,8) and (3,5).
If the initial coordinates were (—3,5)
(—3,13) and (0, 10), then how was the
triangle translated?

A right 3 units, down 5 units
B left 3 units, up 5 units
C right 3 units, up 5 units

D left 3 units, down 5 units
(DOK 2)

LB ars ccrnrn bl am
5 Ilow was the squars tranclated?
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A up 6 units, left 6 units - -

B up 6 units, left 4 vnits
C down 6 units, right 4 units

D down 6 units, right 6 units
(DOK 2}

6 How has trlangle FGH been

T udns aicd? -

bx

A down 7 units, right 2 units
B up 7 units, right 2 units

C down 7 units, left 2 units
D up 7 units, left 2 units

(DOK 2)





[image: image2.png]7 How has the square been rotated?

no turn about the origin
3 turn about the origin

% turn about the origin

PR

2 turn about the origin
(DOK 2)

8 How has the shape been rotated?
y

l—z
*3

counter clockwise turn about the origin
1 counter clockwise tum about z = 1
counter clockwise turn about the origin

counter clockwise turn about x = 1
(DOK 3)

=R B -~ B
Nl W= Sl A

9 Sammy plots the point (—4,3) on a
coordinate grid. He reflects this point over
the y-axis, then over the z-axis. What are
the coordinates of the new reflected point?

(DOK 3)

10 What type(s) of transformations occurred

between AE'F'G’ and AEFG?

Y.
G
1 P
X
NS4 321 P [T |2 B
7 H
£
3
4 G
a3
" A reflection and dilation
B translation and dilation
C dilation
D rotation and reflection
i (DOK 3)

11 Randy plotied points G and I on the

Cartesian coordinate graph below. Where
could he plot points J and K if he wants to

form a square GHJK?
y
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A Jat(2,4) and K at (—1,4)

B Jat(3,0)and K at (0,0)

C Jat(2,0)and K at (—1,0)

D Jat(2,—1)and K at (—1,-1)

(DOK 2)





[image: image3.png]12 If triangle ABC was dilated by a scale 13 A quadrilateral is drawn on a coordinate
factor of 4, what would be the coordinates of plane and has the endpoints A = (1,3),
point A of the dilated triangle? B = (3,0), C = (=3,-2), and

D = (—5,1). What type of shape is

quadrxlateral ABCD?

A rectangle

B square

C parallelogram
D trapezoid

(DOK 2}

s . T N T LS R

(DOK 3)
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4 Which of the following shows eight =

Parallel lines a and & when cut by transversal
m. form eight angles, as shown in the diagram
below.. Use the following diagram for ques-
tions 1-3.

m

11If mZ1 = 80°, which angles are
supplementary to it?

A ZT7and /3
B /8and /2
C /5and £6

D /2and/7
(DOK 2)

2 Which of the following would you use to
calculate the measure of /7 ?

A 180° —m/8
B m/8+ 180°
C mZl+mZ2
D

mZ2 + ms4
(DOK. 2)

31f £1 2 £3, then which is always true?

A linem L linea
B line a and line b are not parallel
C £3%£/5

D m/8=110° )
(DOK 3)

. Pora Nel Li

angles?

|

5 What is the sum of two complementary

angles?

A 180°
B 45°
C 90°
D 360°

(DOK 1)

(DOK 1)




[image: image5.png]6 What is the measure of an angle that is
supplementary to 87°?

A —42°
B 3
C 273°

D 93°
(DOK 2)

7 In the diagram below, which two angles are
adjacent?

Use the following diagram to answer ques-
tions 8-11.

— >
AB |CD

1/2 10 Which statement is true about angles 1 and
3/ 4 62 -
/ A They are interior angles.
B They are corresponding angles.
A Zland 22 C They are complementary angles.
B /2and /3 D They are vertical angles.
C /land 24 (POKD

D Both A and B are correct.
(DOK. 1)

8 There are two complementary angles, of
which, one of the two angles measures 85°.
‘What would the measure of a supplementary
angle be to the measure of the smaller of the
two complementary angles?

A 95°
B 175°
C 85
D 355°
(DOK. 3)

9 Two adjacent angles are supplementary.
One angle measures 45°. What type of angle
is the other angle?

acute
right
obtuse
straight

S Owr

(DOK 3)

11 Which angles are alternate exterior angles?

A Z2and L7
B Z3and /8
C Zland /8
D Both A and C are correct.
(DOK 1)

12 Which angles are alternate interior angles?

A /7and £8
B Z6and /3
C /2and /3
D Both B and C are correct.
(DOK 1)

13 Which statement is true about angles 2 and
4?

A They are corresponding angles.
B They are interior angles
C They are complementary angles.
D They are vertical angles.
(DOK 1)
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1 Fxamine the two figures below and choose

the staterent that best describes the figures.

A The two figures are not similar. Ej [ﬂ

B The two figures are similar.

C' The two figures are congruent

D The two figures are exactly alike.
(DOK 1)

4 The figures below are:

congruent.

similar.

are not congruent.
are not proportional.

I=Neol--Ird

2 The figures below are:

(DOK 1)
i . In questions 5 and 6, choose the answer that
. best describes the sequence that makes the
two figures congruent.

¥

similar, but not congruent.
congruent.

not similar.

not congruent.

o Ow>

(DOK 1)

3 Looking at the pair of figures below, which
statement that follows is truc?

D [ D

A The pair of figures are not similar. B Translation 6 units down

B The pair of figures are similar.

C The pair of figures are congruent.

D The pair of figures are similar enough Lo
be congruent.

A Rotation 270° clockwise about the origin

C Reflection across the z-axis

D Translation 6 units right

(DOK 3)
(DOK 1)
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A Rotation 180° clockwise about the origin
A Scale factor: £

B Translation 8 units down, 4 units right 2
C Reflection across the z-axis Rotation 90° clockwise about the origin
D Rc')ta_tllon 90° counterclockwise about the B Scale factor: 2
origin
(DOK 3) Reflection across the line z = 3
i imi C Scale factor: 3
In each problem, look at the two given similar T3
figures and describe the sequence of transfor- Translation 4 units right

mations to obtain the second figure. 1
D Scale factor: 3

¥
7 Translation 4 units right
T - (DOK 3)
5 - N
4 e 9 Use the similar triangles to determine the
slope of line D.
¥
TR b
i I HEN
B SR
3 220 EA7RARNENEEN
A Scale factor: 5 AOEREA T 7 'I R0 ¥
Center of dilation: (—1,1) o . { N
B Scale factor: §
Center of dilation: (0,0)
A 1
C Scale factor: 5 : 4
Center of dilation: (0,0) B 4
D Scale factor: 5 C %
Center of dilation: (1,—1) D!
2

(DOK3) "(DOK 2)
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A Rotation 180° clockwise about the origin
B Translation 8 units down, 4 units right

Y

C Reflection across the z-axis

o w e v By Rt a0 St oro ool rwia-ab ot {um-
origin

In each problem, look at the two given similar
figures and describe the sequence of transfor-

(DOK 3)

mations to obtain the second figure.

]
{

D
L,

A

C

D

T

!

|

i
R U RN

1

Scale factor: 5

Rotation 90° clockwise about the origin
“Scaleldctor 27

Reflection across the line z = 3

[T T TRt

Scale factor: 1

Translation 4 units right

Scale factor: §

¥
7 Translation 4 units right
T - (DOK 3)
B 8 ° . )
4 o 9 Use the similar triangles to determine the
a slope of line D.
A B ' N
TS 6 R 1 o> *
| Bl
s I <o es s e
6 7] AN
i - Ha
3 1 EA7RARNENEEN
A Scale factor: § SpSaTEs 7 'I R0 ¥
Center of dilation: (—1,1) o . { N
B Scale factor: §
Center of dilation: (0,0) A L
C Scale factor: 5 : 4
Center of dilation: (0,0) B 4
D Scale factor: 5 C %
Center of dilation: (1,—1) D!
2

(DOK 3)

"(DOK 2)
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1 Which number is /53 closest to? 6 Which of the following is a whole number,
but not a natural number?
A 4
B 6 A0
C 8 B 18
D7 C 18
D -9
(DOK 2)
(DOK 1)
2 What is the estimated value of 1/3? 7 Put the following fractions in order from
least to greatest:
A 1.75
B 2 523 8
C 195 77341
D 3 3852
A 411° 7 3
(DOK 2)
p 2583
3 Which number is v/66 closest to? 371174
235 8
A7 C S5
B 8 34711
C9 D 2853
D 66 3711774 (DOK2)

(DOK2) 8 Order the following decimals from greatest

to least: .
4 /40 falls between what two consecutive .
numbers? 1.011, 101.1, 1.101, 10.11, 1.111

: ) 9 ittt et —

g gz;lgg B 101.1,10.11,1.101,1.111, 1.011
C 6and7 C 101.1,1.111, 10.11, 1.101, 1.011
D 101.1,10.11,1.111, 1.101, 1.011
D 7and8 .
(DOK 2)
(DOK 2)
9 What sign would you place in the box below
5 Which of the following is a rational to accurately compare the two numbers?
number? 4.8 1408%
A V6 A >
B 27 B <«
C 196 C =
D 8 D You cannot comparc a percent and a
(DOK 1) decimal to each other.

(DOK 2)





[image: image10.png]10 What sign would you place in the box below 14 Lenny has to get gas every 325 miles and

to accurately compare the two numbers? they are driving 1,021 miles to the concert.
5 If he leaves on a completely full tank of gas
8 Ooss (no miles on the tank), how many times will
A > he have to stop on the way?
B < Al
c= B 3
D You cannot compare a fraction and a
decimal to each other. c5
(DOK 2) D7

11 Order the following numbers from least to (DOK2)

greatest: 15 If the whole trip is 2, 306 miles, and gas is

5 5 $2.41 per gallon, how much extra will they
ar TS .
A g%, —5.7,57%, % 5.7 A 8§17
B $1700
5 5 §
B —7 —5.7, 7 57%, 5.7 C $286.79

D Not enough information

C —57, —g, 57%, g, 5.7 (DOK 2)
16 If 7 girls on the trip buy T-shirts for $18.49

each, how much did all the shirts cost?

D 5.7, *§, §, 5.7, 57%
aaé
(DOK 2) A $129.43

12 Charlie got 4 out of 7 right on a quiz. Rosa B $139.23
E got 89% on her test. Francisco got 5 out of 8 C $143.29
right on his test. Beth got 87% on her quiz.

aelnichoptepiada D $192.34

A Charlie

B Rosa 17 According to the number line, which point
C Francisco is /37

D Beth A B c D

(DOK 2) } ' } ' ' ’

13 The park manager determined that the width
of the bird sanctuary is 1/, 754 feet wide.

Approximately, what is this distance? A A

A 8221t B B

B 83ft CcC

C 16441t DD )

D 13,508 ft N (DOK 2)

(DOK 2)





[image: image11.png]18 Which point on the number line represents
-1.2?

P QRS .
Htotete |
-2 ~1

0 1 2

UOU:>_
O v

(DOK 2)

19 Which point on the number line represents
—239
37

(DOK 2)

20 According to the number line, which point

is V/9?

A B C D
et o 4,
-3 -2 —1 0 1 2 3
A A
B B
cc
D D

(DOK 2)

21 Solve: =5 x 2 x (—2) x (—10) =

—200
200
20
-20

TDOw»

(DOK 3)

22 Which of these is the best estimate of the
coordinate of Point P on the number line?

ANNES.

——
1 2

(DOK 2)
23 What is /60 in simplest terms?

A V60
B 215
C 5/2
D 153

(DOK 2)

24 Solve: 4+/8 — 24/18 =

2/—10
_2\/5
142
2v2

CSawe

(DOK 3)

25 Which point on the number line represents

—129

10°

P QRS
“ptsfetet >
-2 -1 0 1 2
AP

B Q

C R

DS

(DOK 2)
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1 Rewrite the following problem using an 4z~

i ?
exponent. 6 What is the value of ?
63 x 63 x 63 x 63 x 63 AT
415
A 633
" B L -
- B 63 e
C 63%
4
D 638 C s
(DOK 1) L
. i s 7x®
2 What is the value of z¢ x 257 D e
A 22 (DOK 2)
B 2* 7 What is the value of 7-2 . 719
C zb 1
D 2 : A D
- : (DOK 2)
B 7
3 What is the value of (122)47 19
A 126 Cc7
28
B 1 ) D 49
C 12 (DOK 2)
D 144? (62)2
(DOK 2) 8 What is the value of 12 ?
. *h
4 Which of the following is equal to 259 1 ]
W——A_m_
B (13)? B 1
C (¥ x2 1441
D (2%) x 2 C 271
(DOK 2) D 242
5 Which is equivalent to the expression (DOK 2)

1 _ 29
2(13—5) + (4 + 8)"7 9 Which is equivalent to the cxpression

A 148 8x9+42—(63+7)?
B 144 A 1143
C 20 B 88
D 16 : C 79
(DOK 2) D 65

(DOK 2)





[image: image13.png]10. Knowing that the pattern in the ones place of the number 2 raised to a power is 2, 4, 8, 6, what
will the ones place be when 2 is raised to the 19th power - 2199

O WP
o 0o it

(DOK 3)

11. The table below shows the number of items ordered from a bakery for the Smith family

reunion.
Item Number per Box | Number of Boxes
Cakes 1 1
— Doows [ 10 - g 4
Sweetrolls 6 6
Bread 5 5
Cookies 20 20

Which number sentence and answer shows the number of items ordered for the Smith family

reunion.

A 174122+ 6% 4 52 + 207 = 606 -

B 124122 + 62+ 52 4+ 20% = 1,906

C 174122462 4 52 4 20% = 442 = 1,606

D 174122 + 6% 4+ 57 + 20% = 888
N T ——————————————————————

3(8—12) + 21 N 3(12 —8) + 22
52 — 42 7+ 52

12.

(DOK 3)
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1(1 x 107) x (5 x 102!) = 6 1078 107
5 - 3
A 2x 10" 0 _2010
B 2 x 10% g 10_12
C 5 x 1017 p 18"'
28 |
D 5x10 D 10-6
(DOK 2) .

(DOK 2)

8Y 5) —
2 (28 x10%) + (7 x m )= 7 Miss Sheldon found a pint of ocean water

contained beneficial bacteria numbering

12
A 4x 100 1.7 x 10°. Express this as a standard number.
B 4 X 10
C 1x10% A 17,000
D 410" B 170,000
(DOK 2) C 1,700,000
0% 1077 D 17,000,000
T T (DOK2)
A 107 8 Add: 1.24 x 10+ 6.2 x 102
B 10¢ :
C 10—7 A 1.86 x 104
D107 B 1.86 x 10°
DOK 3) C 1.302 x 10*
D 1.302 x 1¢0?
4 Which expression is closest to (DOK 2)

(9.81 x 1073) (3.75 x 10-11)? :
9 Subtract: (6.7 x 10%) — (5.2 x 10%)

A 3.68 x 1074
B 368 x 107 A 618 % 104 L
C 1.07 x 10~% B 6.18 x 103
D 3.68 x 10% C 1.109 x 10*
(DOK 2) D 1.5x 103
(DOK 2)
5 Put the following numbers in order from o )
least to greatest. 10 Airplanes can go 1.9 x 102 miles per hour. .
If a flight between two secret locations is

1.1 %101 1.01 x 10 1.11 x 108 1.2 x 10* miles, how many hours will it take
: the airplane to get to its destination?

A 101 x10° 1.11x10% 1.1 x 10"

B 1.11x10° 1.01x10° 1.1 x 101

C 1.1x10° 1.11x10* 1.01x 10°

D 1.1x10%° 1.01x10° 1.11x 10
’ (DOK 2)

A 6.3 hours
B 6.3 x 10% hours
C 2.3 x 10" hours

D 2.3 x 107 hours -
(DOK 2y
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1 Approximately what is the measure of ihe
hypotenuse of the triangle?

12in

13 in

A 14in
B 157in
C 313in
D 18in
. (DOK?2)

2 What is the measure of the missing side
in a right triangle that has a hypotenuse
measuring 25 cm and leg measuring 15 cm?

A Scm

- B 29cm

C 10cm

D 20cm
(DOK 2)

3 Which of the following is the correct set up

4 A graphing calculator’s screen is about 2.5
inches wide and about 1.5 inches tall. What
is the approximate diagonal length of the

calculator’s screen?

—

1.5in

A 8.5 inches
B 4.0 inches
C 3.8 inches
D 2.9 inches

(DOK 2)

5 A suspension bridge is supported by a cable
measuring 220 feet that is attached to the
bridge 100 feet from the base of the tower.
The other end of the cable is attached to
the top of the tower. About how tall is the

to solve the Pythagorean theorem? ower?
B
¢ I\ A . %
mAB =40 mBO =8 mAC —392 '
A 407 +8%=39.2?
B 8 +39.97 = 402 : s =
C 39.2% 82 =402 A 196 feet
D 40 +39.22 — 82 B 242 feet

(DOK 2) C 120 feet

D 320 feet

(DOK 2)





[image: image16.png]6 A local hardware store sells door stops that 8 Which is closest to the straight-line distance
are 2 inches high and 4.5 inches long. What between Points A and B on the grid?
is the diagonal length of the door stop?

] -
H
. lo . - -
2in 0 .
8 % L
45in AR RRDY:
PR SO T S S N S
St
A 4.9 inches S L
2 ]
B_49 inches - - ||
C 24.925 inches 0 3 2345678910112
D 6.5 inches
(DOK 2) A 2.2 units
i - B 2 units
- C 5 units
D 5.2 units

7 A high-speed Swiss cable car takes (DOK 2)

passengers from the basc to the lop of an
895 foot mountain. About how far do the

passengers travel, round-trip? 9 What is the approximate perimeter of the

triangle?

12 =

11
10

oW o

o =

A 1650 feet
B 3300 feet

A 10 units

C 4510 feet B l4un11§
C 106 units

D 2255 fect D 26 units

(DOK 2) (DOK 2)





[image: image17.png]10 Which is closest to the straight-line distance 12 Find the perimeter of the compound figure

between Points A and [ on the grid? below. You may use a calculator to find
square roots and round the square roots to
t I the nearest tenth.

i T \ — A 404 in
- . B 46.4in
0y 6:78791.0;1:2) S T}f‘
. (DOK 3)
A 7.6 units
B 7 units 13 What is the measure of y?
C 10 units
. AL87°
D 58 units
(DOK 2)
B c
11 What is the approximate length of the A 93 B .
hypotenuse, 2 ?
B 87
C 37°
D Cannot be determined
(DOK 2)

14 What is the measure of the two missing

angles?
B
w C
47°
A
A 18 units A z=26°y =133
B 4.2 units B z=47,y=112°
C 13 units C z=112°,y =47°
. D 9units D =133,y =26°

- - T (DOK 2) (DOK 2)
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1 What is the volume of the following oil
tank? Round your answer to the nearest
hundredth. Use w = 3.14.

2

ards

A 18.84yd®
B 37.68 yd
C 44.4% ya©
D 75.36 yd®

(DOK 2)

2 Find the volume of the cone. Use the

formula V = tnr®h, m = z

A 83 cm’®
B 176cm® -
C 528 cm®
D 2,112 cm®

(DOK 2)

3 Using the cone in qucstlon number 2, which

wouid make a largci“(mtcmm

the radius by 2 cm or increasing the height

by 2 inches? What are the differences?

A Increasing the height by 2 cm.
Difference is 75.36 cm.

B Increasing the height by 2 cm.
Difference is 410.29 cm.

C Increasing the radjus by 2 cm. »
Difference is 75.36 cm.

D Increasing the radius by 2 cm.
Difference is 410.29 cm.
(DOK 3)

HCTCasHg"

B 12 units?

4 What is the volume of a sphere that has a

radius that measures 3 feet?

A 33.49 f
B 84.82ft
C 113.04 13
D 201.06 1
(DOK 2)

5 If the radius of a cylmder is 3 mches and the

nelgm is 9 muuca, Wihat © it o

A 84.78in3
B 226.08 in®
C 254.34 in®
D 320.28in®
(DOK 2)

6 Find the volume of the figure below.

=

C 36 units®
D 72 units®
(DOK 2)

7 What is the volume of a-cone whose radius
is 6 m and its height is 12 m?

V = Lar’h

A 678.24 m®
B 452.16 m®
C 226.08 m®
D 37.68m’
(DOK 2)





[image: image19.png]Volume

1 What is the volume of the following oil
tank? Round your answer to the nearest
hundredth. Use w = 3.14.

D 75.36 yd®

(DOK 2)

2 Find the volume of the cone. Use the

formula V = tnr®h, m = z

A 83 cm’®
B 176cm® -
C 528 cm®
D 2,112 cm®

(DOK 2)

3 Using the cone in question number 2, which
Wou. T =t :
the radius by 2 cm or increasing the height
by 2 inches? What are the differences?

A Increasing the height by 2 cm.
Difference is 75.36 cm.

B Increasing the height by 2 cm.
Difference is 410.29 cm.

C Increasing the radjus by 2 cm. »
Difference is 75.36 cm.

D Increasing the radius by 2 cm.
Difference is 410.29 cm.
(DOK 3)

4 What is the volume of a sphere that has a
radius that measures 3 feet?

A 33.49 f°
B 84.82 1t
C 113.04 3
D 201.06 1

(DOK 2)

5 If the radius of a cylinder is 3 inches and the

A 84.78in3
B 226.08 in®
C 254.34 in®
D 320.28in®
(DOK 2)

6 Find the volume of the figure below.

=

o3
B 12 units®
C 36 units®

D 72 units®
(DOK 2)

7 What is the volume of a-cone whose radius
is 6 m and its height is 12 m?

V = Lar’h

A 678.24 m®
B 452.16 m®
C 226.08 m®
D 37.68m’
(DOK 2)




[image: image20.png]):C;Ua{nons

1 Find the value of n. 19n — 57 = 76
Al

B 2

C 3

D7

(DOK 2)

2 Solve: 3(z —2) — 1 =6(z +5)

A —4

B ¥

4

C
D

wico

(DOK 2)
3520 +11) —3x5=

A Tr+40
B 7z + 20
C 10z +40

D 10z + 260
(DOK 2)

4 Which of the following is equivalent
t03(2z —5) — 4(z —3) =77
A2c-3=7
B z—-271=7
C 101: —2T=7
vz-5="7

(DOK 2)

5 Which of the following describes the
solution set for 3(:1: —2)+1-3z=-57

A z=0
B z=-5
C All real numbers.
D There are no solutions for .
(DOK 2)

6 Solve for z. 14z + 84 = 154

A 4
B 5
C 11
D 238
V (DOK 2)

A z=—

7 In solving the problem below, which step
is incorrect?

7(2z +5) — 7 =32

A Step 1: 14z 435~ 7 =32

B Siep 2: 14z -+ 42 = 32

C Step3: 14z +28 -28=32-128
D Step4: 4z =4

MOY 1

8 Solve: 4% +9=-1

A z=—60
B z =30
C z =60

D z=-36
(DOK 2)

T
9 Solve: — +4.9="7.11
olve 2.8+ 9

A z=33628
B z=4289
C z=0.789

D z=76.188
(DOK 2)

2 4z 47
10 Solve: = — — = —=
Solve 3 5 o0

41

120
41

120

107
Co=1t
=378

D z= —1E
375

B z=

(DOK 2)
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